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1. If a perfume bottle is opened in one corner 

of a room, the smell can be felt after 

sometime in the opposite corner. This shows 

that ......? 

(a) particles of matter are constantly moving  

(b) the perfume is strong 

(c) the room has fan which circulates the 

perfume 

(d) None of these 
 

2. Which one of the following is a correct 

electronic configuration of calcium- 

(a) 2, 8, 8, 1  (b) 2, 6, 8, 2 

(c) 2, 8, 8, 2  (d) 2, 8, 2, 8 

 

3. Meristems are .......? 

(a) Mature cells   

(b) Well differentiated cells 

(c) Embryonal cells 

(d) None 
 

4. A piece of wood is held under water. The 

upthrust on it is : 

(a) equal to the weight of the wood 

(b) less than the weight of the wood 

(c) more than the weight of wood 

(d) zero 
 

5. The number of carbon atoms in 1g of CaCO3 

is ......? 

(a)  236.022 10  (b)  216.022 10  

(c)  223.0125 10  (d) 231.204 10  
 

6. In case of transverse wave : 

(a) the hump on the +y axis is called crest 

(b) the hump on the –y axis is called crest 

(c) the highest point on the hump on +y axis 

is called crest 

(d) the highest point on the hump on the –y 

axis is called crest 

 

7. Carl Von Linne was involved with which 

branch of science? 

(a) Morphology (b) Taxonomy 

(c) Physiology (d) Medicine 

 

1. ;fn dejs ds ,d dksus esa b= dh “kh”kh [kksyh tk, 

rks dqN nsj ckn nwljs dksus esa mldh egd eglwl 

dh tk ldrh gSA blls irk pyrk gS fd --------\ 

(a) inkFkZ ds d.k fujUrj xfr”khy jgrs gSa 

(b) b= etcwr gS 

(c) dejs esa ia[kk gS tks b= QSykrk gS 

(d) buesa ls dksbZ ugha 

 

2. fuEufyf[kr esa ls dkSu lk dSfY”k;e dk lgh 

bysDVªkfud foU;kl gS& 

(a) 2, 8, 8, 1  (b) 2, 6, 8, 2 

(c) 2, 8, 8, 2  (d) 2, 8, 2, 8 

 

3. foHkT;ksrd gSa ------\ 

(a) ifjiDo dksf”kdk,a  

(b) vPNh rjg ls foHksfnr dksf”kdk,a 

(c) Hkwz.k dksf”kdk,a 

(d) dksbZ Hkh ugha 

 

4. ydM+h dk ,d VqdM+k ikuh ds uhps j[kk tkrk gSA 

bl ij mR{ksi gS % 

(a) ydM+h ds otu ds cjkcj 

(b) ydM+h ds otu ls de 

(c) ydM+h ds otu ls vf/kd 

(d) “kwU; 
 

5. CaCO3 ds 1g esa dkcZu ijek.kqvksa dh la[;k gksrh 

gS ------\ 

(a)  236.022 10  (b)  216.022 10  

(c)  223.0125 10  (d)  231.204 10  

 

6. vuqizLFk rjax ds ekeys esa % 

(a) +y v{k ij dwcM+ dks f”k[kk dgrs gSa 

(b) –y v{k ij dwcM+ dks f”k[kk dgrs gSa 

(c) +y v{k ij dwcM+ ij mPpre fcanq dks f”k[kj 

dgk tkrk gS 

(d) -y v{k ij dwcM+ ij mPpre fcanq dks f”k[kj 

dgk tkrk gS 

 

7. dkyZ okWuZ fyus foKku dh fdl “kk[kk ls tqM+s Fks\ 

(a) vkdf̀r foKku (b) oxhZdj.k 

(c) “kjhj fØ;k foKku (d) nok foKku 
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8. A man standing in front of a large wall claps 

at a regular frequency of 10 Hz. He finds 

that the echoes coincide with his clapping. 

(The speed of sound in air is 330 m s-1.) 

(i) Time taken between successive clapping 

is 0.1 s. 

(ii) The distance between the man and the 

wall, after he stops clapping, if he hears four 

more echo is 33 m. 

(iii) The distance between the man and the 

wall, after he stops clapping, if he hears four 

more echoes is 66 m. 

(a) Only (i) and (ii) are correct 

(b) Only (ii) and (iii) are correct 

(c) Only (i) and (iii) are correct 

(d) All (i), (ii) and (iii) are correct 

 

9. Consider the graph shown in figure which 

of following is correct? 

 

 

 

(a) Region OA (uniform acceleration) and 

Region OB (uniform retardation) 

(b) Region OA (constant acceleration) and 

Region AB (variable acceleration) 

(c)  Region OA (uniform velocity) and 

Region AB (constant acceleration) 

(d) Region of OA (uniform acceleration) and 

Region AB (zero acceleration)  

 

10. The matter that has stronger inter particle 

forces between an iron piece and a chalk 

piece is ......? 

(a) iron  (b) chalk piece 

(c) both  (d) neither 
 

11. The average atomic mass of an element Q is 

35.5 u. What are the percentages of isotopes 

and 35 37
17 17Q, Q in the sample? 

(a) 70%, 30%  (b) 75%, 25% 

(c) 80%, 20%  (d) 85%, 25% 

 

 

 

8. ,d cM+h nhokj ds lkeus [kM+k ,d vkneh 10 gVZ~t 

dh fu;fer vkòfÙk ij rkyh ctkrk gSA og ikrk gS 

fd xw¡t mldh rkyh ctkus ds lkFk esy [kkrh gSA 

¼gok esa /ofu dh xfr 330 m s-1 gSA½ 

(i) mÙkjksÙkj rkyh ctkus ds chp fy;k x;k le; 

0.1 s gSA 

(ii) vkneh vkSj nhokj ds chp dh nwjh] tc og 

rkyh ctkuk can dj nsrk gS] ;fn og ,d vkSj 

izfr/ofu lqurk gS rks og 33 ehVj gSA 

(iii) vkneh vkSj nhokj ds chp dh nwjh] rkyh can 

djus ds ckn] vxj og pkj vkSj izfr/ofu 

lqurk gS rks 66 ehVj gSA 

(a) dsoy (i) vkSj (ii) lgh gSa 

(b) dsoy (ii) vkSj (iii) lgh gSaA 

(c) dsoy (i) vkSj (iii) lgh gSaA 

(d) lHkh (i), (ii) vkSj (iii) lgh gSaA 

 

9. fp= esa fn[kk, x, xzkQ ij fopkj djs a fd 

fuEufyf[kr esa ls dkSu lk lgh gS\ 

 

 

 

(a) {ks= OA ¼,dleku Roj.k½ vkSj {ks= ¼,dleku 

eanrk½ 

(b) {ks= OA ¼fujarj Roj.k½ vkSj {ks= AB ¼pj 

Roj.k½ 

(c) {ks= OA ¼leku osx½ vkSj {ks= AB ¼fujarj 

Roj.k½ 

(d) OA dk {ks= ¼leku Roj.k½ vkSj {ks= AB ¼”kwU; 

Roj.k½ 

 

10. ftl inkFkZ esa yksgs ds VqdM+s vkSj pkWd ds VqdM+s ds 

chp etcwr varj&d.k cy gksrk gS] og gS ------\ 

(a) yksgk  (b) pkd dk VqdM+k 

(c) nksuksa   (d) dksbZ Hkh ugha 

 

11. ,d rRo Q dk vkSlr ijek.kq nzO;eku gS 

35.5u uewus esa vkSj 
35 37
17 17Q, Q leLFkkfudksa dk 

izfr”kr D;k gS\ 

(a) 70%, 30% (b) 75%, 25% 

(c) 80%, 20% (d) 85%, 25% 
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12. Which one of the following represents the  

displacement-time graph of two objects A 

and B moving with zero relative speed? 

 

 

(a)    

 

 

 

 

(b)  

 

 

 

(c)  

 

 

 

(d) none of these 
 

13. NO2 vapours are harmful to the body 

because 

(a) They produce allergy 

(b) They produce respiratory problems 

(c) They create blood clots 

(d) None of these 

 

14. Lysosomes are formed in : 

(a) Golgi apparatus (b) plastids 

(c) nucleolus  (d) mitochondria 

 

15. Which of the following statements is not 

correct- 

(a) A compound is a pure substance 

(b) Compound is homogeneous in nature 

(c) Compound always contains two or more 

elements 

(d) Compound can be separated into 

constituent elements by some physical 

process 
 

16. Identify the macronutrient. 

(a) Copper  (b) Zinc 

(c) Sulphur  (d) Boron 

 

 

12. fuEufyf[kr esa ls dkSu lk “kwU; lkis{k xfr ds lkFk 

pyrh nks oLrqvksa A vkSj B ds foLFkkiu&le;  

xzkQ dk izfrfuf/kRo djrk gS\ 

 

(a)    

 

 

 

 

 

(b)  

 

 

 

(c)  

 

 

(d) buesa ls dksbZ ugha 

 

13. NO2 dh ok’i “kjhj ds fy, gkfudkjd gksrh gS 

D;ksafd 

(a) os ,ythZ iSnk djrs gSa 

(b) os “olu laca/kh leL;k,a iSnk djrs gSa 

(c) ;s jDr ds FkDds cukrs gSa 

(d) buesa ls dksbZ ugha 

 

14. Ykblkslkse curs gSa% 

(a) xkWYth dk; (b) IykfLVMksa 

(c) U;wfDy;l  (d) ekbVksdkWfUMª;k 

 

15. fuEufyf[kr esa ls dkSu lk dFku lgh ugha gS& 

(a) ;kSfxd ,d “kq) inkFkZ gS 

(b) ;kSfxd izdf̀r esa ltkrh; gSA 

(c) ;kSfxd esa lnSo nks ;k nks ls vf/kd rRo gksrs gSa 

(d) ;kSfxd dks dqN HkkSfrd izfØ;k }kjk ?kVd rRoksa 

esa vyx fd;k tk ldrk gSA 

 

16. eSØksU;wfVª,aV dh igpku djsaA 

(a) rk¡ck  (b) tLrk  

(c) xa/kd   (d) cksjku 
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17. Two masses m and 9 m are moving with 

equal kinetic energies. The ratio of the 

magnitudes of their momenta is .....? 

(a) 1 : 1  (b) 1 : 3  

(c) 3 : 1  (d) 1 : 9 

 

18. The particle size of solute in true solution is 

of the order of .......? 

(a) 610 m   (b) 710 m  

(c) 810 m   (d) 910 m  

 

19. Community health aims at. 

(a) better health and family planning  

(b) better hygiene and clean environment 

(c) removing communicable diseases 

(d) all of the above 

 

20. The driver of a train travelling at 115 km/hr 

sees on a same track, 100 m infront of him, a 

slow train travelling in the same direction at 

25 km/hr. The least retardation that must be 

applied to faster train to avoid a collision is 

....? 

(a) 3.125 m/s2 (b) 3.5 m/s2 

(c) 2.75 m/s2  (d) 3.0 m/s2 

 

17. nks nzO;eku m rFkk 9 m leku xfrt ÅtkZ ds 

lkFk ?kwe jgs gSaA muds laosxksa ds ifjek.kksa dk 

vuqikr gS -----\ 

(a) 1 : 1  (b) 1 : 3  

(c) 3 : 1  (d) 1 : 9 

 

18. okLrfod foy;u esa foys; ds d.k vkdkj dh dksfV 

gksrh gS ------\ 

(a) 610 eh  (b) 710 eh 

(c) 810 eh  (d) 910 eh 

 

19. lkeqnkf;d LokLF; dk y{k.k gSA 

(a) csgrj LokLF; vkSj ifjokj fu;kstu 

(b) csgrj LoPNrk vkSj LoPN okrkoj.k 

(c) lapkjh jksxksa dks nwj djuk 

(d) Åij ds lHkh 

 

20. 115 fdeh/?kaVk dh xfr ls ;k=k dj jgh ,d Vªsu 

dk pkyd ,d gh VªSd ij ns[krk gS] mlds lkeus 

100 ehVj] ,d /kheh Vªsu leku fn”kk esa 25 

fdeh/?kaVk dh xfr ls ;k=k dj jgh gSA VDdj ls 

cpus ds fy, rst xfr okyh Vªsu esa de ls de 

eanrk ykxw dh tkuh pkfg,------\ 

(a) 3.125 eh/ls2 (b) 3.5 eh/ls2 

(c) 2.75 eh/ls2 (d) 3.0 eh/ls2 

21. The rainfall (in centimetre) recorded in the 

month of June to December are 14, 15, 25, 20, 

30, 42 and 8. Then the average rainfall is . 

(a) 21  (b) 22  

(c) 24  (d) 26 
 

22. How many points does a line contain? 

(a) Two  (b) Three 

(c) Four  (d) Infinitely many 
 

23. Which one of the following is correct: 

(a) If two parallel lines are intersected by a 

transversal, then alternate angles are equal 

(b) If two parallel are intersected by a 

transversal then sum of the interior angles 

on the same side of transversal is 1800 

(c) If two parallel lines intersected by a 

transversal then corresponding angles are 

equal 

(d) All of these 

21. twu ls fnlacj ds eghus esa fjdkMZ dh xbZ o’kkZ 

¼lsaVhehVj esa½ 14, 15, 25, 20, 30, 42 vkSj 8 gSA fQj 

vkSlr o’kkZ gS &&&&A 

(a) 21  (b) 22  

(c) 24  (d) 26 
 

22. ,d js[kk esa fdrus fcanq gSa\ 

(a) nks  (b) rhu 

(c) pkj  (d) vifjfer vusd 

 

23. fuEufyf[kr esa ls dkSu lk ,d lgh gS % 

(a) ;fn nks lekarj js[kkvksa dks ,d fr;Zd js[kk 

dkVrh gS] rks ,dkarj dks.k cjkcj gksrs gSa 

(b) ;fn nks lekarj js[kkvksa dks ,d fr;Zd js[kk 

dkVrh gS rks fr;Zd js[kk ds ,d gh Hkqtk ds 

vkarfjd dks.kksa dk ;ksx 1800 gksrk gSA 

(c) ;fn nks lekukarj js[kk,¡ ,d fr;Zd js[kk }kjk 

izfrPNsn djrh gSa rks laxr dks.k cjkcj gksrs gSa 

(d) ;s lHkh 
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24. A rectangular park 60 metre long and 40 

metre wide has two concrete crossroads 

running in the middle of the park and rest of 

the park has been used as a lawn. If the area 

of the lawn is 2109 metre2 then the width of 

the road is? 

(a) 3 metre  (b) 5 metre 

(c) 6 metre  (d) 2 metre 

 

25. In the adjoining figure, AD = BD = AC; 

  0CAE 75 and 0ACD x .  Then, the value 

of x is : 

 

 

 

 

(a) 450  (b) 500  

(c) 600  (d) 
01

37
2

 

 

26. The value of 2 2(x 2y 2z) (x 2y 2z)     is 

......? 

(a) 2 2 22x 8y 8z    

(b) 2 2 22x 8y 8z 8xyz    

(c) 2 2 22x 8y 8z 8yz    

(d) 2 2 22x 8y 8z 16yz    
 

27. The region between an arc and the two radii 

joining the centre of the end points of the arc 

is called a : 

(a) Segment  (b) Semi circle 

(c) Minor arc  (d) Sector 

 

28. The king, queen and jack of clubs are 

removed from a deck of 52 cards and then 

well shuffled. One card is selected from the 

remaining cards. The probability of getting a 

club is. 

(a) 
13

49
  (b) 

10

49
 

(c) 
3

49
  (d) 

1

12
 

 

 

 

 

24. 60 ehVj yacs vkSj 40 ehVj pkSM+s ,d vk;rkdkj 

ikdZ ds chp esa nks daØhV pkSjkgs gSa vkSj ikdZ ds 

ckdh fgLlksa dks ykWu ds :i esa bLrseky fd;k x;k 

gSA ;fn ykWu dk {ks= 2109 ehVj2 gS] rks lM+d dh 

pkSM+kbZ gS -------\ 

(a) 3 ehVj  (b) 5 ehVj 

(c) 6 ehVj   (d) 2 ehVj 
 

25. layXu vkd̀fr esa] AD = BD = AC; 

  0CAE 75 vkSj 
0ACD x .  rks x dk eku gS 

 

 

 

 

(a) 450  (b) 500  

(c) 600  (d) 
01

37
2

 

 

26. 2 2(x 2y 2z) (x 2y 2z)     dk eku gS ----\ 

(a) 2 2 22x 8y 8z    

(b) 2 2 22x 8y 8z 8xyz    

(c) 2 2 22x 8y 8z 8yz    

(d) 2 2 22x 8y 8z 16yz    

 

27. ,d pki vkSj pki ds var fcanq ds dsanz dks feykus 

okyh nks f=T;k,a ds chp ds {ks= dks dgk tkrk gS% 

(a) [kaM  (b) v/kZ oÙ̀k 

(c) y?kq pki  (d) lsDVj 

 

28. 52 iRrksa dh ,d xM~Mh esa ls ckn”kkg] csxe vkSj 

rk”kksa ds xqyke dks fudky fy;k tkrk gS vkSj fQj 

vPNh rjg ls QsaVk tkrk gSA “ks’k dkMksZa esa ls ,d 

dkMZ dk p;u fd;k tkrk gSA ,d fPkM+h izkIr djus 

dh izkf;drk &&&& gSA 

(a) 
13

49
  (b) 

10

49
 

(c) 
3

49
  (d) 

1

12
 

 

 
 

 

 

 

A

B CD

E 
A

B CD

E 
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29. In a ABC in which D, E, F be the mid point 

of AB, BC and AC respectively. If G is any 

point on EF, then the area of AGB is: 

(a) 
2


  (b) 

3


 

(c) 
4


  (d) 

5


 

 

30. Which of the following is not a cube of 

negative integer? 

(a) 1   (b) 1000  

(c) 8   (d) 1728  

 

31. In a Isosceles trapezium ABCD if 

0A 45  then C will be. 

(a) 900  (b) 1350  

(c) 600  (d) None 

 

32. A cord in the form of a square enclose the 

area ‘S’ cm2. If the same cord is bent into the 

form of a circle, then the area of the circle is 

...? 

(a) 
2S

4


  (b) 24 S  

(c) 
s

4
  (d) 

4S


 

 

33. Sides AB and AC of ABC are trisected at D 

and E then ADE and trapezium DECB have 

their areas in the ratio of : 

(a) 1 : 4  (b) 1 : 8  

(c) 1 : 9  (d) 1 : 2 
 

34. The sides of a triangle are in the ratio of 3 : 5 

: 7 and its perimeter is 300 cm. Its area will 

be ...? 

(a) 1000 3 sq.cm  (b) 1500 3 sq.cm  

(c) 1700 3 sq.cm  (d) 1900 3 sq.cm  

 

35. The curved surface area of a right circular 

cylinder of height 14 cm is 88 cm2. The 

diameter of the base is ....? 

(a) 2 cm  (b) 3 cm  

(c) 4 cm  (d) 6 cm 
 

 

 

 

 

 

 

 

29. ABC  esa AB, BC, AC dk e/; fcUnq D, E, F 

Øekxr gS ;fn EF ij dksbZ fcUnq G gS] rks 

AGB dk {ks= gS % 

(a) 
2


  (b) 

3


 

(c) 
4


  (d) 

5


 

 

30. fuEufyf[kr esa ls dkSu lk _.kkRed iw.kkZad dk ?ku 

ugha gS 

(a) 1   (b) 1000  

(c) 8   (d) 1728  
 

31. ,d lef}okgq leyac ABCD esa ;fn 
0A 45   

gS] rks C gksxkA 

(a) 900  (b) 1350  

(c) 600  (d) dksbZ Hkh ugha 

 

32. oxZ ds :i esa ,d Mksjh {ks= ‘S’ lseh2 dks ?ksjrh gSA 

;fn mlh jLlh dks ,d oÙ̀k ds :i esa eksM+k tk,] rks 

oÙ̀k dk {ks= gS -----\ 

(a) 
2S

4


  (b) 24 S  

(c) 
s

4
  (d) 

4S


 

 
 

33. ABC dh Hkqtkvksa AB vkSj AC dks D vkSj E ij 

lef=Hkkftr fd;k tkrk gS rks ADE  vkSj leyEc 

DECB ds {ks=Qy dk vuqikr gS& 

(a) 1 : 4  (b) 1 : 8  

(c) 1 : 9  (d) 1 : 2 
 

34. ,d f=Hkqt dh Hkqtk,¡ 3 : 5 : 7 ds vuqikr esa gSa vkSj 

bldk ifjek.k 300 lseh gSA bldk {ks= gksxk ----\ 

(a) 1000 3 oxZ lseh (b) 1500 3  oxZ lseh 

(c) 1700 3  oxZ lseh (d) 1900 3  oxZ lseh 

 

35. 14 lseh Å¡pkbZ okys ,d yEc oÙ̀kh; csyu dk oØ 

ls f?kjk {ks= 88 lseh2 gSA vk/kkj dk O;kl gS----\ 

(a) 2 lseh  (b) 3 lseh  

(c) 4 lseh  (d) 6 lseh 
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36. If 55x x 202 2 2  then x = 

(a) 0  (b) -1  

(c) 
1

2
  (d) 1  

 

37. The graph of x = 9 is a straight line : 

(a) Intersecting both the axes 

(b) parallel to y-axis 

(c) parallel to x-axis 

(d) parallel to z-axis 

 

38. In the given figure below, two chords of 

lengths x metre and y metre subtend angles 

600 and 900 at the centre of the circle 

respectively. Which of the following is true? 

 

 

 

 

 

(a) 2 2y 2x   (b) 2 2x 2y  

(c) 2 2x 4y   (d) 2 2y 4x  
 

39. The orthocentre of the triangle formed by 

the points ( 5, 7),(13,2),( 5,6)   is 

(a) (1, -3)  (b) (-3, 2) 

(c) (3, 2)  (d) (-2, 3) 
 

40. The ratio in which (4, 5) divides the join of 

(2, 3) and (7, 8) is : 

(a) -2 : 3  (b) -3, : 2 

(c) 3 : 2  (d) 2 : 3 

36. vxj 
55x x 202 2 2  rks x   

(a) 0  (b) -1  

(c) 
1

2
  (d) 1  

 

37. x = 9 dk vkjs[k ,d lh/kh js[kk gS% 

(a) nksuksa v{kksa dks izfrPNsn djrk gS 

(b) y-v{k ds lekukarj 

(c) x-v{k ds lekukarj 

(d) z-v{k ds lekukarj 

 

38. uhps nh xbZ vkd̀fr esa] x ehVj vkSj y ehVj yackbZ 

dh nks thok,a oÙ̀k ds dsUnz ij Øe”k% 600 vkSj 900 

ds dks.k cukrh gSaA buesa ls lp D;k gS\ 

 

 

 

 

 

(a) 2 2y 2x   (b) 2 2x 2y  

(c) 2 2x 4y   (d) 2 2y 4x  
 

39. fcanqvksa ( 5, 7),(13,2),( 5,6)   }kjk xfBr f=Hkqt dk 

yEcdsUnz gS % 

(a) (1, -3)  (b) (-3, 2) 

(c) (3, 2)  (d) (-2, 3) 
 

40. (2, 3) vkSj (7, 8) ds tksM+ dks (4, 5) fdl vuqikr esa 

foHkkftr djrk gS % 

(a) -2 : 3  (b) -3, : 2 

(c) 3 : 2  (d) 2 : 3 

41. In a certain code language. ‘FATHER’ is 
written as ‘REHTAF’ and ‘COUPLE’ is 

written as ‘ELPUOC’. How will ‘REMAIN’ 

be written in that language? 

(a) NIAEMR  (b) NIAMER 

(c) NAIEMR  (d) INAMER 
 

42. Select the option that is related to the fifth 

term is the same way as the second term is 

related to the first term and the fourth term 

is related to the third term 

LEAN  : NEAL : : MEAN : NEAM : : HEAR : 

? 

(a) HREA  (b) RHEA 

(c) REAH  (d) RAEH 

 

41. ,d fuf”pr dwV Hkk’kk esa] ‘FATHER’ dks 

‘REHTAF’ ds :i esa fy[kk tkrk gS] vkSj 

‘COUPLE’ dks ‘ELPUOC’ ds :i es a fy[kk tkrk 

gSA mlh Hkk’kk esa ‘REMAIN’ dks dSls fy[kk 

tk,xk\ 

 (a) NIAEMR (b) NIAMER 

 (c) NAIEMR  (d) INAMER 
 

42. ml fodYi dk p;u djsa tks ikaposa in ls mlh 

izdkj lacaf/kr gS ftl izdkj nwljk in igys in ls 

vkSj pkSFkk in rhljs in ls lacaf/kr gSaa 

LEAN  : NEAL : : MEAN : NEAM : : HEAR : 

? 

(a) HREA  (b) RHEA 

(c) REAH  (d) RAEH 
 

A B

D

x

y

O

C

A B

D

x

y

O

C
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43. Select the correct option that indicates the 

arrangement of the given words in a logical 

and meaningful order. 

1. Core  2. Atmosphere 

3. Universe  4. Surface 

5. Galaxy  

(a) 1, 3, 4, 5, 2 (b) 4, 3, 5, 2, 1 

(c) 1, 4, 2, 5, 3 (d) 1, 4, 2, 3, 5 
 

44. To different positions of the same dice are 

shown, the six faces of which are numbered 

from 1 to 6. Select the number that will be 

one the face opposite to the face showing ’5’. 

 

(a) 3  (b) 1  

(c) 6  (d) 4 

 

45. The sequence of folding a piece of paper and 

the manner in which the folded paper has 

been cut is shown in the following figures. 

How would this paper look when unfolded? 

 

 

 

 

(a)   (b)  

 
 

 

(c)   (d)  

 

 

46. Select the correct mirror image of the give 

combination when the mirror is placed at 

MN as shown. 

  

 

 

(a)   (b)  

(c)  (d)  
 

 

 

 

 

 

 

 

 

43. ml lgh fodYi dk p;u djsa tks uhps fn, x, 

“kCnksa dks ,d rkfdZd vkSj vFkZiw.kZ ØEk esa n”kkZrk 

gSA 

1. ØksM  2. ok;qeaMy 

3. Ckzãk.M  4. Lkrg 

5. vkdk”k xaxk 

(a) 1, 3, 4, 5, 2 (b) 4, 3, 5, 2, 1 

(c) 1, 4, 2, 5, 3 (d) 1, 4, 2, 3, 5 
 

44. ,d gh ikls dh nks fHkUu fLFkfr;ksa dh uhps n”kkZ;k 

x;k gS] ftuds Ng esa ls gj Qyd ij 1 ls 6 rd 

la[;k,a fy[kh gqbZ gSaA ‘5’ vafdr Qyd ds foijhr 

Qyd ij dkSu&lh la[;k gksxh\ 

 

(a) 3  (b) 1  

(c) 6  (d) 4 
 

45. Ukhps vkdf̀r esa dkxt ds ,d VqdM+s dks eksM+us dk 

Øe vkSj ml eqM+s gq, dkxt dks dkVus dk rjhdk 

n”kkZ;k x;k gSA okil [kksyus ij ;g dkxt dSlk 

fn[ksxk\ 

 

 

 

(a)   (b)  

 
 

 

(c)   (d)  

 
 

 

46. Tkc niZ.k dks fuEukafdr fp= ds vuqlkj MN ij 

j[kk tkrk gS] fn, x, la;kstu dk lgh niZ.k 

izfrfcac p;fur djsaA 

 

 

(a)   (b)  

(c)  (d)  

 

 

 

 

 

 

 

M

N

5 T 3 W 1 Z

M

N

5 T 3 W 1 Z
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47. Tarun is the son of Charan. Charan has only 

two children. Tarun is the brother of Ravali. 

Ravali is the daughter of Pranavi. Aditi is 

the granddaughter of Pranavi. Sunder is the 

father of Aditi. How is Sunder related to 

Tarun? 

(a) Brother  (b) Son  

(c) Brother in Law (d) Son in Law 
 

48. How many squares are there in the given 

figure? 

 

(a) 18  (b) 15 

(c) 20  (d) 22 
 

49.  Arrange the given words in the sequence in 

which they occur in the dictionary. 

1. Resettle  2. Resolve 

3. Reserve  4. Reshuffle 

5. Reshape 

(a) 2, 3, 4, 5, 1 (b) 3, 1, 5, 4, 2 

(c) 3, 1, 5, 2, 4 (d) 3, 2, 1, 5, 4 
 

50. If ' ' means ' ',' '  means ' ',' '  means ' ' and 

' ' means ' ', then what will be the value of 

the following expression? 

16 32 4 2 1 ?      

(a) 32  (b) 7.5 

(c) 10  (d) 22 

47. Rk:.k] pj.k dk iq= gSA pj.k ds dsoy nks cPps gSaA 

r:.k] jkoyh dk HkkbZ gSA jkoyh] iz.koh dh iq=h gSA 

vfnfr] iz.koh dh iksrh/ufruh gSA lqanj] vfnfr dk 

firk gSA lqanj] rj.k ls fdl izdkj lacaf/kr gS\ 

(a) HkkbZ   (b) iq=  

(c) thtk   (d) nkekn 

 

48. nh xbZ vkdf̀r esa fdrus oxZ gSa\ 

 

(a) 18  (b) 15 

(c) 20  (d) 22 

 

49. fn, x, “kCnksa dks “kCndks”k Øe ds vuqlkj 

O;ofLFkr dhft,A 

1. Resettle  2. Resolve 

3. Reserve  4. Reshuffle 

5. Reshape 

(a) 2, 3, 4, 5, 1 (b) 3, 1, 5, 4, 2 

(c) 3, 1, 5, 2, 4 (d) 3, 2, 1, 5, 4 
 

50. ;fn ' ' dk vFkZ ' ',' '  dk vFkZ ' ',' '   dk vFkZ ' '  

vkSj ' ' dk vFkZ ' '  gSA rks fuEufyf[kr O;atd dk 

eku D;k gksxk\ 

16 32 4 2 1 ?      

(a) 32  (b) 7.5 

(c) 10  (d) 22 
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Space for rough work 

jQ~ dk;Z gsrq 
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